
Group Work: DAfor n =3 ... in action. 12 parts)..

(1) Fill in below chart by writing a as a
=3q +with

- g,rEW and 0 = 5C3.

.

to
do a r a =3g +r

15 -b

14
-5

13 -4

12
-3

-2
11

10
-1

order

1
-

E

I
st

O ⑧ 0 =3(0) +0

2nd I I 1 =3(0) +1

3rd2 2 2 =3(0) +2

4 3

54

b 5

7 ↳

8 7

9 8 continued



Part 1continued. Let
a, g, rc,

If a =3gtr, then a -r =

and so divides
⑧

2. For the integers a with
- b =a1 8,

we justdivided a by 35andfoundthe remainder is 50, 1,23.

Let's compare the integers thathave the se remainder r

by completing thebelow chart so that as we read

down a column the numbers are increasing.

Under a "remainder column", writethe asN for -b2a28
thathave thatcolumn's remainder.

division by3 r=0 r=1 r=2

- b

- 3

If we take the difference between any two

numbers in the same column, do you notice pattern?

T

=>

All done "


